LoKaxxurte, 4Tto ec/in KBaAapaTtHoe ypaBHEHUNE
a*x"2+b*+x+c=0wumeer KopHn x_1 , x 2,
TO BEPHO pas3/ioxXeHue

S/7-as wWkona A4 W
NULEN 2-aa LLKONa Ml S
179-a5 wkona '

a*x"2+b*x+c=a(x—-—x_1)x—-—x_2) 1543 10-3

(XA2 - Bx + 6)/(x-3) = 1*(x-2)*(x-3)/(x-3) = x-2 KypHaToBCKan
CYHL MY

x"2 - d5x + 6=0 n3obpetaranbCKMin Knacc 6 Kracc

x1=2 MaTeMaTU4eckuin knacc 7 knacc, 8 knacc, 9 knacc

x2=3 NHTEIJeKTyarl

1*(x-2)*(x-3) 1588

1511
a*x"2+b*x+c=

=a(x"2+(bx)/a+c/a)=
=a(x"2+2(bx)/(2a)+c/a)=
=a(x"N2+2bx/(2a)+(b/(2a))2-(b/(2a)) " 2+c/a)=
=a((x+b/(2a))N2-(b/(2a))2+c/a)=
=a((x+b/(2a))"2-bN2/(4a™2)+4ca/(4a"2))=
=a((x+b/(2a)) 2+(-b"2+4ca)/(4a™2))=
=a((x+b/(2a))N2-(bN2-4ca)/(4a"2))=

(b™N2-4ca)=D OHOBPEMEHHOE /
=a((x+b/(2a))2-D/(4a"2))= BbINOSTHEHUE
=a((x+b/(2a))2-(VD)"2/(4a"2))= ycrnosun
=a((x+b/(2a))-(VD)/(2a))((x+b/(2a))+(VD)/(2a))= -
=a(x+b/(2a)-(VD)/(2a)(x+b/(2a)+(VD)/(2a))= BLINONHEHUE
=a(x+(b-VD)/(2a))(x+(b+VD)/(2a))= xotsi 6ol oprorona 1V
=a(x-(-b+VD)/(2a))(x-(-b-VD)/(2a))= YCIOBMIA

=a(x-x1)(x-x2) —



